IF VNG
o £ s f(_‘f;.*_’
‘, V4o H ot __E_
I-p
. ,[ j‘ 0 91
\







- N |

| erh.\. | |

’ff bl "‘7 ((_e,w-:?' Q

( C,e,r‘h,,,J -‘y,:_;?' ' '

 Ale) ) .L
OED (A s 8) -0

(_ov,& -\“H..d., ‘)(@}A) - Y’( Q)"LL. A)

[er &80y Q—

COA o)~ POL)YCRIA
' ~ P(R)P(AIR)




. ®@ P(A' o v @)
= YA+ () @Cl]

@ _ ] p(.ﬂ- v &) w(,q,}

¥ B(8) - O(} et @)
@. _
WA + Powk A) = ) \ “9
PeaYy - Y- Platar)
. ey k offeet
\ 0( k] cauee)  eney

Y( Covse ‘ et ) Lyvdey

A = Mkk Mo v, ( u1v( "\, ) ( ‘-'\'-lJ'-&)
t VY= Jody (Eu.rﬂ vl [£) (:.f‘ﬁv.-‘f)'

(CAID) = (DI A)

| 9\\791'
Alws v




—
™~
-::-
&
’
|\ S
N
;
| T
) -
o®

Pcd) PCAID)

PLY A=\ YA P OIA)

0UAID)~ BA) SUMIA) \
| P ())

b eyt | « FHty

o priv ) ‘ o, rarflﬁ-f‘f;
- {1me
‘ro" v Jﬁh v"f'kl’:“"
:-...'6(&-4"':‘& . » o
?)(A.) “\ ? (w=kuon / "“h}

P( uu\bt.’ wh)



|%e 994 ®
| |a¢eo

) (o ("Q"\k\..c—'—)

L\.' +A . .-f
'( b"—'* )""'9? ('%"L'\’

Y’Lu ~
)) (. w"? EUsa q
\-l-ﬂ’r | ‘r‘”) =
| - 192



— _ | 5
(D)= Y(ELSAN) @

| A
| = Y( b ovd A) + _A
@' | ‘( ) avd (hs*.ﬂ'\)

~ R TOIIA)Y .
‘ PL v+ A) P(d]webA)

NS (- 9g)

B = .o ’-93 | | l..o',-\ \.\o,‘ |

| ,Y’(/H Y) = vi4) MMK "")(.‘”’
| Y,()) | “(.0;9?) -
- 9F | e |

— = 9 3+
187 |




CRA)) - I
. . )., *(A) P(D1 A) |

B YD)
R )~ PCath) IO moth)
P

PCAID) (pay \( .
hriah), T L ""3 o
""'V( A')u L,Av()""’*—A)
| J

e\ [ 1)@
( " ) ( r")(@%>

@ ‘:\b'—\-‘\..oo-ﬂ wvario
9\7"7 ‘Fl:c-"'\lf 39’

@ dave ords"

Ny






6

® §h¢ a+ o +;l\..'..A- v"—“"Va\'up..ﬂ V. (v-v )
Au7 e T r Mkizw_\? el ¥lc o yed !7
& comnldo~ L RA L.-Lah -i(,..“,{. o« e D)

' Va\ql.
ij' (1) ?(Ysy). Nné’v'u"lt—Luvg_J
e et s I_.—:rr.w-k oF vt wons |

( F-i l{ hoh)%vﬂ.‘f‘.g} a—-él SFTQ |)‘ A I'-'r‘fd‘
Y e.th'-"“'-—'H7 ¢ bhav. L-, Wy, \.w(!‘m\,

| “~ sy 1(.”,:."',«\. (?""F) P( 7 7)

L J(t’ r“'\" lh"'dq.r) ¢
eX. va 2 e
- z Bevioull i ( 8) P

:' 0 -F;w |
" 7 .
"/ 1 7) - -0 e f ( 9).7

o &‘.rc,




2
' 8
_ N4
'.e..—-——_——@
6—-———?— o
| 1
o :

‘f;f- Fal’ Q4 Con Hkuu—-/ .',Vtz A
“it o R L el v A

buceton £o(y) el p& F () f#(tm
P F by ) e () dhe A, .ﬂw+.w °f

T e Frl)s Fole) Tlisie,
Falps UT ) [TE 1t o

\\w -l'il#, Av 40..,-‘-. AR o 2 O,V
by o2 wedeo fle ~'-~—~-r'-+47' ﬁ—di‘h. |

e T~ Ynifomm(a L) (heb )

A0 $, L:L f~r ’-54.7‘.!)
'\:-q 45(7)" .0, |
e b R o 2lre




2 I~ G\Mr.nqh(/u,r ) = ”(/" 0-)

cwm.,.j)

- |

W‘?’(ﬂ L

| — o_()'—_; 4 | _
M -

l*\q- - - - e N

@ "‘ - "':h“- (22 l7 Qkf’-s..rh-..)



No ‘! P OF of T, " Z, @O '
: - :t.._ C F o\ l. N o
F2 E'i £ a.f o — ( E é— ?

f Z, 2, lo 1 J.‘rw-—k, w‘lu-r Ceop,
b h\\c L M L
Pe, 2. Cry7) = (L=, F oy
YT NEEL T wehovdl bt
juisk desivy L aefioes by

- A OPS 3 ¢, &
Tiq(*r 7.) / f _(i.&_(,n;)%)

)
- QD - ) Vv t
-2 -(,,:oi-.
Mo waryive]l OYF, (o )Mkl{m
Folan = Vin Fo o (v, g ) (Frs
AL e 9,2 "7) A3






Mo vy Vfg.q 00.. |

' \} e, 6.\-" E
S e e[ Tee
(f v‘—q’) ) ‘N—.d— f')z,\..}uvvf hl/lt"\ﬂ\

R ————

CJ:D‘) T - V(Z)

- 2 gés—% _

MO /e







| ° 2 | o | o | |
(l’o’l, )\’ v e L e
";-‘.- ",.-_h'
S_' I?\- y

| | W= (9,4 %)
= 0 (1-6) ™~
e
C j'-kl-vie
rorl}:qﬂ-
“l.f"\s-.‘,' "
cie= ¢
C-¢=~¢

ate









@ wlet . _
EL{S‘A ‘tll.“ @\ ‘i’)o';\ 9)07

Jpip) = o Cpriwbien) -

MBI A) = 35 (oeurirvity;
*/“( hakb' W"’-’A’) % ."? (fro..g.)'

A

95

plar )~ (O sy X
.83 R T

.

. | -_ ELISA Soys
: - HiV | :

AN
(Ce ) = v | e
. < L"”"thz— § 9;\ 0\73.‘45 f”‘~7




hq.k"“\/.‘ .( (l) \.,ov,“f
diekvi Lykishg
1}
| Yi"(‘-y) = P N(/.,)r; )
.l Q'f, )N(/“'\,}‘]\:)

_—

CHY) G (ran ) (e een) (A

(EList) & (f)"*"“ (M) (9)

(A~ J o
r“(’(rltb) _:‘N,r') N[ v 1 ,9)
PO et [ red | ete)

(2]



‘ e Q;J_ o @
4 | -
V(D] - @("_.’_.,\:_\).../Y_\‘fr)

= (mw. 19| vs ) %, £ ARAL
_ v p(w‘g( %”"%\I*:)

05707
V(w10 ) o P lelse)

£ - 14,/ P(Q)’ hoh)

9|== Vlw I¢) ( P(w\.!f) Pl )
¢ Cw, | werd L bty Y (o 7Y

—



0D W \’ru‘.b‘uu;q' “
| ~4,\/\;\¥‘ ] ot
_ (A ey

LX_('l' ’l ‘? | g

° 9







CAI)

oy b T,
f '\Jnh Y

y | g .. - |
P, & 77 y \ 1
o Sea oy W) { .
‘9vu%rm . A

|1-6

ﬁg,mmuw (e)
( ) aﬁ/‘(ﬂﬂf’ﬁlw“\‘@"

(g~ )= O C“"‘h)

YL 9. ~2). &« (-0

|-y
WY, ~1) b 0-97

‘/"L V-tgs 'fh QPMF)



S gl
O, (I-0y b (17 %y -
9‘1'-\ Q-B}'-v" :
- 6\1'* Yy G)h (v +. ry..)
% 6SQ;0) —,, f:‘?7\'
-~ 9
N O I P
(g ((oo
2lorvg)= £(8 15 AN
- P s f—-i‘ .
= 0 (-e) , 2T






